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[CIT832] Programming in 1's and 0's is known as _______
Machine language

[CIT832] The THE operating system supported how many layers
6

[CIT832] A _______ provides the interface to a running program and the operating 
system
System call

[CIT832] The geometric arrangement of networking devices is known as ________
Topology

[CIT832] The type of topology that connects all the stations to a central hub is known 
as ______
Star

[CIT832] A bus topology is also known as _______
Linear bus

[CIT832] An _______ acts as an interface between users and the hardware of a 
computer system
Operating system

[CIT832] A ________ provides access to desk utilities such as the calculation
Desk manager

[CIT832] A computer network is an interconnected set of _______
Autonomous computers

[CIT832] The concept that creats the illusion of a real machine is known as ________
Virtual machine
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